
Name: _____________________________________   Date: ________ 
PC:        Ms. Loughran 
 
 
Perform the indicated operations and give answer in simplest form. 
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4 6 5
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a b a b a ab b
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   
 

     
 










































































































HEIM Eff blah
Eb l2ab

Management
a bit

3a2t2ab b

La Labtlab b 2a2t2ab labB 69 Bab 2abtb 3atzab ab b

Lalab tb a b 2alath blath 3alaa b b 2ab 3alatb blats

a b 29th La batb 39b129b 3a b atb

Do Now:
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Continuing in yesterday’s packet…
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